SITEID : Nikon (Nikon Corporation, submission ID: Nikon_2)

Experiment ID :Nikon_MED11_MEDI11TEST_MEDFull_AutoEAG_c-rej16-morT-defT_2

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 0| 3| 186/ 0.0001 1.0000 1.0012| 0.0000 1.0000 1.0004|  0.3035

E007| 111|31821 of 5/ 111/ 0.0002 1.0000 1.0020| 0.0006 0.9910 0.9985|  0.5837

E008| 132|31821 0| 5| 132/ 0.0002 1.0000 1.0020| 0.0000 1.0000 1.0004| 04361

E009| 95/|31821 of 6 95| 0.0002 1.0000 1.0024| 0.0000 1.0000 1.0004| 04772

E010| 87/31821 0| 22 87| 0.0007 1.0000 1.0087| 0.0000 1.0000 1.0004|  0.3798

EO11| 140|31821 0| 11/ 140( 0.0003 1.0000 1.0043| 0.0000 1.0000 1.0004| 04361

E012| 231|31821 0| 5| 231/ 0.0002 1.0000 1.0020| 0.0000 1.0000 1.0004| 04793

EO013| 104|31821 2| 204 102 0.0064 0.9808 1.0611| 0.0002 0.9904 0.9931 0.3974

E014| 78|31821 of 11 78| 0.0003 1.0000 1.0043| 0.0000 1.0000 1.0004| 05172

EO015| 81/31821 0| 100 81| 0.0032 1.0000 1.0393| 0.0000 1.0000 1.0004| 0.3918
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